M Ao
A, e KA
o et #

g

-y o




|
310G L
00009742 i se-> |

= KT i

——

Band 3

2 N ™
o ..-.i""‘""h-n.

EGE ENC' fii { * ACTICE TESTS

BEGE ENGLISH PRACTICE TESTS

. il
kg '
b IMERF B R

C0484334

e e -



REFZEZGRERRIREE (FEED
Rl TR XICR 4R

EHRSMEETT AL B AR AT
(LIRS )
EERCE CR R ED A
HARALSE LRI AT 44

JF4 787X 1092 1/16 15.5 ek 1G5 382 T
1998 EO3 24 19996 FI I 3 KTl R
£ ¥r. 30 000
ISBN 7 — 81046 — 341 —1

G- 641 M. 1640 7
EHEB A PRFREEE, TEAD G i,

AURAAAAA A

C0484334



b

v - 'j_\ v
Licos /2 -~
ZiT 8 8

A E 1991 F 9 HHKETLR, ZEERE, EEREN,IEH T ENEE
e, RRA R EMERER., X, BINELEENET,HERET2EE
ilo

ARBITMEMERTENVHW2EN SEEEHTL, 2B XK¥EHF
W oARERBEAST 19SS FETAANGTHE - MTRRAMWHIEY EE5, 6
1996 ETAXAMTHE _HABERBARNFER, IAFNEREERHEEAH-A
A OMER,SFWERAEHEAEEE, BRERXGENFIHER PEREILHE
Ko X—HHERELMAFREHFEINIKER,RESREEHEL M A
EHEREHFL LB FAEMEER N, BED —FE, WV FE P ERHE
HIEMMT —E B, BTN, FIWIELTNEMME, MR £ ML
ARXBETUBREEY, R, EEAREREMETEIWIR T, E50
ABRABEL, #NELET ,MBERGHRE -—CE2ARAER. IRRM
BITABHNERELR S, BEFTURHEEEAAS GRS, KNV ESENAET
B REZ AR, Xl TAPRZFEKT RS SE, 3R A7AR 5 A R 8K F
ER,AEFHIPRAEHEEAATE "X —TW, X, 25858 E &
K, BAHART 1000 T (HERLEHEIRA),

ARBITRS N T METAYE EERPEHEETHEN S HUELH,
MT&ElEE. s, B FREOAE(CERRERERTOIET —&iH
BAESR. B AEATHEEBERARIR, AEHEBEM ISER N 10E,

ARBAAZRKFMEL, BLRFELESSEANIBBEEI R BN TE -
FELRTEFHEN. AL, ITESMN AEER LKA TS LERNEE, A
WAHENESRRE S

SMARBITHRERERESN, WK KADAERSMT o LE, LBMEH
BHBMMHENEITTAERTHFZERNERLNES, ELRREDH K
W o

% K
1998 4 2 A TR Jr i



%5 it B

A oK 2 HE = K F UK 45 2] B (College English Practice Test) %8,
ERBEFHERLARENREIDHBE, BEHTABIHRELFHE,

F R EE N LR ER A A, a8 D U R A
TRBERCRFEEHERFA)BERLRBERIEMO, (KE)HAE, KEXEBHFD
HHERFEEEARBRNFAZERD, —EXWHEN, UEREHNE MM E
MEES . B, REFTEEEEAEEHESTHEN, ANEUEEZENEEGEHN
FAIMERAGWEERE, A THELSERBURGER = KEHEREFEERRF
b, HER EER M R ERN Ry S NREEHER,

FHNAERAEMTEAUML BHARBRIAEHBE I ANENER,
ERGIE B X FERELEMIIGIES, B AEESERAERC
FETWAHIEMR FEES WA ER SN S EEREMEREN . TEHE
= RIFENMEE NS, BEEFTFH FAMN 160 88, W28 130 70, &
EEMMEACKELRNBE L4, THTRARE, IETESRU 1.3,

% —#&8 % : W7 /1 E ## (Listening Comprehension) . 3t 20 &, & & 1 4, Bf [(]1 £y
205350 XAV EF VT ATE O, BEES —-HANE, XFA, XNiEEEH 1
MAB T EREEX, BRER SN, L 10 &,

BEXFBER,XTFEERNESH 120 ME, SFWE, NERSHBEREF
M—BAE,EXAHEYHANBEE HESNRE., BAAAEBRAPALE,
ERFLWSREE THEFTHNARTRIERBERER,

E_ 4 : T 5N Z (Spot Dictation) , 3t 10 B, B 1 4, W H L 15 2 8,
BREFAH B 1I0FAAHXE,ETHFI0ONMNEH,BIMNEBEREA 1M
FHEAFH S, EXEIR,F-REXHE BAEE, AFETELITA
BB _HESHEEREFR, EREZELTINARTEAASHE;FZREBE —H—
REGE 3, L AR AT

WEEHEFAEXHWEN EEMRETEESE BT HIEBNTIRE
HE, XHWTERFENTHEARN —ENBHERELIEN,

£ =34 . LB % (Reading Comprehension) , 20 &, & & 2 4, % Bl i (8] 4
35405, XMAAE4REL RN ERBORAAL, BREXEA S EIE,

FEEXHERFEAYFIE DD REBE He XA ERR BETRE,
EREAEEREBEXENFERBE . THRIIEPHFIEXRENETHAEY , FBE

I



BT B2 A AT — o B HT W R HE IS

PR XA R EHEL, LA X 2R, SRE LT XENHA
Wi B A OUEFE ) L, RSB A RN E R, HEHE LT RS
THE DR AENARTER.

S EB 4y 8 58 B & i8] M (Short Answer Questions) ., 3£ 5 5, & 2 4>, % iR
BHE] 15 7080, XBAHNEN—RBXE, LEFASNAEHXACENE T, ER
ZFAARBEXEZ GAMENRIEATURA-F, 0] R E &SRR H) B2 R
A 18] B % B AS ST BB AT f

e XEMHEMANESHE oML EEMEE., XETEEZE ¥ AT
T A5 bR R D AR R

EH 4 88 R EMNIE & & ( Vocabulary and Structure) . 30 &, & 8 0.5
G ERE20 8 NMGE. Kb 12 EhEERE I8N ERSEW,

XHEAMENWRURAEACHAWNIL RENEREHWE L, ES T —-K
ANKRE R, BHER K2, A W BLRT 58 52 W 2 Az B A BOA o o B M R R AR A

SERES  RHIM= (Cloze) . 20 B, B/ 0.5 57, ERE IS THAMTE. &
—BHNAERR EEEFTNEX(S0MEHELEA)PEE 20 MEA,8MFEAN—
B, ERXFERELEEBASNER L EBE - T"REER,FEXWERANSEH
WRATE, XWONMENWEMNAEEGEcRESNERED, HETUEWiE N
F I EFERSE R REBEEEHBNE

£t #B45 : HiF X ( Translation from English into Chinese) , 3t 5 5,5 & 2 47,
A IS8, FEAFRERNZEEATITINIRXE, BRXE £ 2 /8,
R e, BEEMTUS R RAEEERTNE X LE, UETHLT X,

AWy FBEEZFANEERBXENHIIERBE S

FENFS S 1E(Writing) o 2t 1 8,15 2, WA 25 80, X4 EH B
RWEAZEEAXEFTERZBEPDWELES . KAAEMN=ZR¥EENEERR
REZH¥PIMETSHREARE NEEEER. B, XV THEEH
MB g, R FEELHATRHAB NI TR EE, B EEXRSE,
SR MATEEREBEUEMBRAAECHHAANSE,

AT &R AP EFDFHF XXM E RS H, A UIERE—B
TE 437 HE o

1998 £ 2 A



CONTENTS

Part One College English Practice Tests — Band 3 .ooovvini

L T |
S 1 S T PP
S P S T S PRI 32
Practice Test TRy D TR P R R RET TR 46
Practice TESL = 5 srreeeerrserseeateantareoistiesnsnisieteiieeiteas s teseensnstenertsensnsenser e ces 6
T L S < X T
1 S L PP 90
o S~ B PP 106
Practice Test  © «-veeeerseeremmmantammnmtaen ettt ot ee e e e e 122
Practice Test 10 «-+eevve-- e e e e ee e et aeaeeeee e et aa e e 138

Part Two Key to Practice Tests 1 — 10 oo 154

Part Three Tapescripts for Listening Comprehension and Spot
Dictation  -ccooocrerreimie e 212



Part One

College English Practice Tests
Band 3

Practice Test 1
(160 minutes)

Part | Listening Comprehension

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. The conversation and question will be spoken two times. Af-
ter each question there will be a pause. During the pause, you must read the four choices marked A, B,
C and D, and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet

with a single line through the center.

1. A. They don’t have to go to the concert. B. His brother will let them use the car.
C. The subway is fine with her. D. They’ll have to rent a car as early as possible.
2. A. He wants the others to follow him. B. He must study the animal he caught.
C. He is behind in his schoolwork . D. He will catch up with them then.
3. A. At the restaurant, B. At the theatre.
C. At the station. D. At the drugstore .
4. A. A trip she has already taken. B. A trip she takes frequently.
C. A restaurant she owns. D. A famous statue in Philadelphia.
5. A. His age. B. His income.
C. His nationality. D. His occupation.
6. A. He refused to drive her, B. He is glad to drive her.
C. He forgot his driver’s license . D. He has a new car.
7. A. No, not at all. B. Yes, with her mother.
C. After she goes home. D. Only if she is introduced.
8. A. The room is on fire. B. They are bothered by the smoke.
C. There is very little breeze. D. They are not permitted in the room.



9. A. They both liked it.
C. Neither liked it.
10. A. 10 cents.
C. 25 cents.
Section B

e R~ B i &

. The mother didn’t like it, but the father did.

. The mother didn’t like it because it wasn’t in English.
. 5 dollars.

. 50 cents.

Directions: In this section you will hear 2 short passages. At the end of each passage, you will hear

some questions. Both the passage and the questions will be spoken two times. After you hear a question,

you must choose the best answer from the four choices marked A, B, C and D. Then mark the corre-

sponding letter on the Answer Sheet with a single line through the center.

Passage [
11. A. At Sydney. B. At Chicago.
C. At Hong Kong. D. At Melbourne
12. A. A number of iron boxes. B. A pile of woolien goods.
C. A number of wooden hoxes. D. Some clothing.
13. A. A box. B. A cat.
C. A woman. D. A man.
14. A. After the plane left London. B. Before the plane left London.
C. Two days ago. D. That morning.
15. A. £345 B. £435
C. £230 D. £335
Passage [I
16. A. By taxi. B.‘Bybus.
C. On foot. D. By car.
17. A. Buckingham Palace. B. Oxford Street.
C. The National Gallery. D. The British Museum.
18. A. Have some very good meals. B. Go shopping.
C. See some very good plays. D. Do sightseeing.
19. A. They thought English food was bad. =~ B. They will visit London again.
C. They visited London last October. D. They didn’t take their umbrella last year.
20. A. The couple enjoyed themselves very much in London.
B. London is the best place to visit.
C. The couple saw a lot in London.
D. It often rains in London.



Part I Spot Dictation

Directions: In this part, you will hear a passage three times. The passage is printed on your test paper
with 10 blanks. Listen carefully and fill in the blanks with the missing words you have just heard.

In my (1) , I have had to master three different kinds of writing machines. 1 began
my career on the manual typewriter. I soon (2) and typed between sixty-five and seventy
words per minute. (3) _ , I found myself (4) to an electric typewriter. At
first, I swore I preferred a manual because I had trouble remembering (5) . Also, it took
me several days to quit reaching for a carriage retumn. After a while, however, I (6) re-
turning to a manual . Recently, 1 was persuaded to give up my electric typewriter for a word processor.
(7) , I complained in the beginning (8) the new keyboard and the com-
mands. But after using the word processor (9) , I don’t believe I would consider (10)

of the electric typewriter.
Part [ Reading Comprehension

Directions: There are 4 reading passages in this part. Each passage is followed by some questions or un-
finished statemenis. For each of them there are four choices marked A, B, C and D. You should decide

on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the

center.
Questions I to 5 are based on the following passage:

The White House is the home of the President of the United States and his family. It wasn’t called
the White House until Teddy Roosevelt named it in 1901.

James Hoban designed the White House in 1792. He was awarded the job because he had won a
contest sponsored by the government. His design had been selected as the best.

President John Adams was the first to live in the White House. When he and his wife, Abigail
moved in, it was a huge mansion in the middle of a swamp. Many of the rooms were unfinished . Abigail
used the famous East Room as a drying room for laundry. More rooms were decorated every year. Rare
shrubs and trees were planted on the grounds.

Yet, all this work was for nothing. In the War of 1812, the British burned the mansion to the

ground. The White House was rebuilt in 1817. The beauty of its decorations and furnishings has been

growing ever since.

1. Which of the following would be the best title for the passage?
A. President John Adams and the White House
B. White House Today



C. A House Full of History
D. White House Before 1812
2. The White House was sponsored by the government. This means that the government
A. received the prize B. held the contest
C. did the designing D). was against having a contest
3. James Hoban won the job of building the White House because
A. his plan of the house seemed better than the others’
B. he was the best-known architect of his time
C. he organized the contest
D. he applied for the job to the government
4. Which of the following statements is true according to the passage?
A. The present building of the White House has been standing for almost two centuries.
B. It was James Hoban who first got the idea of building the White House.
C. The number of the rooms in the White House has been growing ever since it was built.
D. The White House got its name at the turn of the century.
5. We can infer from the passage that the White House was first built
A. on a low and damp site B. among trees and flowers

C. on a small island D. on a small hill
Questions 6 to 10 are based on the following passage:

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw

its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dyna-

mite, so in 1895, just two weeks before his death, he created a fund to be used for awarding prizes to

people who had made worthwhile contributions to mankind. Originally there were five awards: literature,

physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the
first award ceremony .

Nobel’s original legacy of nine million dollars was invested, and the interest on this sum is used for
the awards which vary from $ 30,000 to $ 125,000.

Every year on December 10, the anniversary of Nobel’s death, the awards (gold medal, illuminated
diploma, and money) are presented to the winners. Sometimes politics plays an important role in the
judges’ decisions. Americans have won numerous science awards, but relatively few literature prizes.

No awards were presented from 1940 to 1942 at the beginning of World War II. Some people have

won two prizes, but this is rare; others have shared their prizes.

6. When did the first award ceremony take place?
A. 1895 B. 1901
C. 1962 D. 1968
7. Why was the Nobel prize established?
A. To recognize worthwhile contributions to humanity .
. 4 -



B. To resolve political differences.
C. To honor the inventor of dynamite.
D. To spend money.
8. Which of the following statements is NOT true?
A. Awards vary in monetary value.
B. Ceremonies are held on December 10 to commemorate Nobel’s invention.
C. Politics can play an important role in selecting the winners.
D. A few individuals have won two awards.

9. In which area have Americans received the most awards?

A, literature B. peace

C. economics D. science
10. In how many fields are prizes bestowed (27 )?

A2 B.5

C.6 D. 10

Questions 11 to 15 are based on the following passage:

In seeking to solve their problems, social scientists encounter greater resistance than physical scien-

tists. By that I do not mean to belittle the great accomplishments of physical scientists, who have been

able, for example, to determine the structure of the atom without seeing it. That is a tremendous achieve-

ment; yet in many ways it is not so difficult as what social scientists are expected to do. The conditions
under which social scientists must work would drive a physical scientist mad. Here are five of those con-
ditions. He can make few experiments; he cannot measure the results accurately; he cannot control the
conditions surrounding the experiments; he is often expected to get quick results with slow-acting econom-

ic forces; and he must work with people, not with non-living objects.

11. According to the author, social scientists
A. make more contributions to society than physical scientists
B. have solved more problems than physical scientists
C. are no more important than physical scientists
D. face more obstacles than physical scientists in their research
12. A physical scientist would find the restrictions imposed upon social scientists
A. difficult for him to manage B. just as easy to cope with
C. similar to those in his own field D. helpful to his scientific exploration
13. “That” after “By” in the second sentence refers to
A. “resistance”in the first sentence
B. the first sentence as a whole
C. “to belittle the great accomplishments of physical scientists” in the second sentence
D. “the structure of the atom” in the second sentence

14. The discovery of the structure of the atom by physical scientists is



15.

A. a great feat of theirs
B.
C
D

their greatest achievement

. not so remarkable as the accomplishments of social scientists

. more valuable than what social scientists have ever accomplished

The five conditions under which a social scientist must work are characterized by

A,

precision, efficiency, and testability

B. rigidity, accuracy, and explicitness( B} #i )
C.
D

. objectivity, aloofness, and exactness

flexibility, variability, and vagueness

Questions 16 to 20 are based on the following passage :

Man’s first real invention, and one of the most important inventions in history, was the wheel. All

transportation and every machine in the world depend on it.

wheels in nature—no living thing was ever created with wheels. How, then, did man come to invent the

The wheel is the simplest yet perhaps the most remarkable of all inventions, because there are no

wheel?

forest on logs more easily than they could carry it. However, the logs themselves weighed a lot.

ters by a strong stick. This would roll along just as the logs did yet be much lighter and easier to handle.

Perhaps some early hunters found that they could roll the dead body of a heavy animal through the

It must have taken a great prehistoric thinker to imagine two thin slices of log connected at their cen-

Thus the wheel and axle came into being, and with them the first carts.

16. The wheel is important because

17.

18.

19.

20.

A. it was man’s first real invention B. all transportation depends on it
C. every machine depends on it D. both B and C

The wheel is described as

A. simple B. complicated

C. strange D. light

It was remarkable of man to invent the wheel because

A. it led to many other inventions B. man had no use for it then

C. there were no wheels in nature D. it was very complicated

This passage says that the first wheel might have been a

A.

C.

round piece of stone B. heavy log
piece of metal D. slice of log

The idea of making wheels might have come from

A,
B
C.
D

6

chasing an animal

. watching a rolling trunk

watching running animals

. rolling the dead body of an animal on logs



Part N Short Answer Questions

Directions: In this part there is a short passage with five questions or incomplete statements. Read the

passage carefully. Then answer the questions or complete the statements in the fewest possible words .

Insomnia is the inability to fall asleep or sleep restfully. It is a problem to nearly everyone at some
time. A person may be awake for an hour in the middle of the night and then, next morming, feel that he
hardly slept all night. Normally, worry about not getting enough sleep is the worst aspect of most insomnia.
If insomnia is recurrent, however, it is important to find its possible causes and try to correct them, with
the help of a doctor if necessary.

Any large number of simple factors may make it difficult for someone to fall asleep or remain asleep .
His mattress may be too soft or too hard. The bedroom itself may be overheated or too cold. If it is not
dark enough, or too noisy, this may cause difficulty in sleeping. Eating shortly before going to bed may
also be responsible for insomnia. Stimulating drinks, such as tea or coffee, can also keep people awake.

Inability to fall asleep is sometimes a symptom of emotional or mental disorders. Insomnia may also
be caused by pain and, very rarely, it can be a symptom of a physical disease.

The cause of insomnia may be easy 1o correct. The sufferer should check the mattress, bedroom tem-
perature, and make any necessary changes. He should relax for an hour or two before bedtime, perhaps
by reading a book, watching television or taking a warm bath. If he wakes during the night he should try
turning on the light and reading for a while. Above all, he should try not to worry about sleeplessness.

If necessary, a doctor may prescribe tranquilisers (48 ## 57} or sleeping pills. Take only the dosage

he prescribes; any more is dangerous.

1. Insomnia is a common complaint because

2. Worry about not getting enough sleep often makes a person feel he hardly slept all night when

3. One had better see a doctor when

4. Besides situational factors, insomnia may sometimes be the result of

5. What is the main cure for insomnia?

Part Y Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices

o T .



marked A, B, C and D. Choose the one answer that best completes the sentence. Then mark the corre-

sponding letter on the Answer Sheet with a single line through the center.

10.

1.

12.

. When he was in prison he was not allowed to

A. commit

C. commission

. The next afternoon I went to

+ 8 -

with his family.
B. communicate
D. command

Miss Barkley ugain.

A. call on B. call forth
C. call after D. call off
. Which door does this key to?
AL set B. become
C. fit D. belong
. We have to produce more food to the demand of the ever-growing population.
A. suit B. fix
C. meet D. respond
. That field a good crop of potatoes last year.
A. planted B. grew
C. raised D. yielded
. One of my _ sayings is “there is no smoke without fire.”
A. favourite B. alike
C. favourable D. likely
. Tam of the same old breakfast every moming.
A. wom out B. tired
C.ill D. exhausted
. How can you avoid mistakes when you’re in such a ?
A. speed B. worry
C. hastening D. hurry

. Thereismo ____ in insisting on the impossible.
A. mind B. meaning
C. sense D. help
We to get what we want, anyway.
A. operated B. managed
C. controlled D. handled
The policeman the thief down the road.
A. rushed B. ran
C. chased D. raced
Six o’clock is his hour for getting up.
A. frequent B. regular
C. uniform D. setiled



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

I fill in the form now, shouldn’t 1?
A. could B. couldn’t
C. should D. shouldn’t
John suggested anything about it until they found out more facts.
A. not to say B. not say
C. 1o say not D. not saying
His theory is very difficult, but people understand it.
A afew B. few
C. a liule D. little
He said __was not within his power to answer the question.
A. that B. this
C. such D. it
Mrs. Jonson  about it before me.
A. would not like speaking B. would not like to speak
C. had better not speaking D. had better not to speak
I like to get up early so that I can get plenty of work before lunch.
A. todo B. doing
C. done D. being done
He wants to read a book, is most unusual for him.
A. which B. that
C. this D. what
You have the right to live you want .,
A. there B. in which
C. where D. here
They rose one after and walked out.
A. the other B. each other
C. others D. another
His pupils used to make him so angry that he threw books them.
A. over B. towards
C. on D. at
If the sun the players could have finished the game.
A. had shone B. did shine
C. were shining D. shone
It is past the time the children should be in bed.
A. for B. when
C. that D. whenever
. Ob, you have drawn!
A. what beauliful a picture B. how beautiful a picture

C. what a beautiful picture D. how a beautiful picture



26. It was in 1961 John F. Kennedy became president of the United States.

A. when B. and
C. that D. then
.27. _to hurt her feelings, he did not tell her the truth.
A. Not to want B. Not wanting
C. To want not D. Wanting not
28. Heacted asif he = in England before.
A. would not live B. did not live
C. wouldn’t have lived D. had never lived
29. I found that she _ lived in that apartment.
A. no any longer B. no longer
C. not any longer D. not longer
30. You’ve already missed too many classes this term. You two classes just last week.
A . have mssed B. would miss
C. had missed D. missed
Part I Cloze

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked
A, B, Cand D. You should choose the one that best fits into the passage. Then mark the corresponding

letter on the Answer Sheet with a single line through the center.

Have you 1 asked yourself why children go to school? You will probably say that they go

2 their own language and other languages, arithmetic, history, science and 3 sub-
jects . That is quite true; but why do they learn these things? And are these things 4 that they
learn at school?

We 5 our children to schoolto 6 them for the time 7 they will be big
and will have to work 8 themselves. Nearly all they study at school has some 9 use
in their life, but is that the only reason 10 they go to school?

There is 11 in education than just leaming facts. We go to school 12 all to
learn how to leamn, 13 when we have 14 school we can continue to learm. A man
who really knows 15 will always be successful, because 16 he has to do something
new which he has never had to do 17 , he will rapidly teach himself how to do it in the best

18 . The uneducated person, 19 , 18 prabably unable to do something new, or does it
badly. The purpose of schools, therefore, is not just to teach languages, arithmetic, etc., 20

to teach pupils the way to leam.

1. A. either B. whether
C. ever D. as well
10 -



